AB Calculus Chapter 6 Review

FRQ: Complete on your own paper showing appropriate work.

1. From the graph of f(x) at the right, find

2) jj f (x)dx

b) _[521‘ (x)dx

c) the average value of
f (x) on [1,4]

2
2. Use the Fundamental Theorem of Calculus to find _[1 (e* +2x—3)dx .

3
3 j_2|x—2|dx

4. Find A, di[fx/t3—3t2+4dt] B Jd
X 2

5. Evaluate each of the following

dx

X 1-sint?
IS

dt} C.

2

4 f(x)

1 3

— 2

41
Lt

A B C 5
: secxtanx —2 - 5csc(x)cot (X
J.1+x2 ~3c0s(x) dx .[ 4 dx _[7 - +8sin(x)dx J‘ ( e)s ( )dx
- H *** preak it up first ***

J' 3csc? x — 2sec? xdx

F j%«&+%§/§dx

ot——n )

3
2x% —6X+— |dx
( ﬁj

9 92 12 £
2t+t2\/f Ly

t
1
MC: On your own paper, show appropriate work then choose the correct letter.
Non-Calculator
2
1
1 —dx=
e
A. Y B. - C. % D. 1 E. 2In2
24
2. [sin(t)dt=
0
A. sinx B. -cos x C. cos x D. cosx—-1 E. 1-cosx
e 2 _
3. (X 1} dx =
L X
2 2
A e-1 B. & ¢ c. & el pe2 e &3
e 2 2 2
b
4. Iff isalinear function and 0 < a <b, then j f"(x)dx =
2 a2
A. 0 B. 1 C. a—zb D.b-a e D 2a
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o

o

11.

13.

15.

16.

17.

If F(x) = j JE +1dt, then F'(2) =
0
A. -3 B. -2 C.2 D. 3 E. 18

k
What are all values of k for which j x> dx=07?
-3
A. -3 B. 0 C.3 D. -3and 3 E. -3,0,and 3

A particle with velocity at any time t given by v(t) = e' moves in a straight line. How far does the
particle move fromt=0tot=2?

A €1 B.e-1 C. 2 D. ¢? E. %
[sec? x dx =
) 5 sec’ X 5

A. tanx+C B. csccx+C C. cos“x+C D. 3 +C E. 2secxtanx +C

k
Iff(zkx— X*)dx=18, then k =

0
A -9 B. -3 C.3 D. 9 E. 18
1
[(3x-2)"d
0
A —Z B. —Z C. = D. 1 E. 3

3 9
What is the average value of y for the part of the curve y = 3x — x? which is in the first quadrant?
A. -6 B. -2 C. E D. g E. 2
2 4 2

The acceleration of a particle moving along the x-axis at time t is given by a(t) = 6t — 2. If the
velocity is 25 when t = 3 and the position is 10 when t = 1, then the position x(t) =

A. 9t?+1 B. 3t?-2t+4 C.t2—t?+4t+6
D. 2-t?+9t-20 E. 36t3—4t> — 77t + 55

Rt

A. 243 +1+C B. x}+1+C C. VxX*+1+C
D. InVx*+1+C E. In(x3+1)+C

Page 2



18. I(xz +1)2 dx =

(x2+1)3 (x2+1)3 (3 Jz
A +C B +C C.|—+x|+C
3 6Xx
2 3
D. 2X(X3+1) +C E X—5+2—3+X+C

20. j(4x3—6x)dx:

/15\. 2 B. 4 C. 6 D. 36 E. 42
21. lj.e% dt

2

A et+C B. /24 C C. e2+C D. 222+C E. e'+C

23. The average value of cos x on the interval [-3, 5] is

A sin5-sin 3 B. sin5-sin3 C sin3-sin5
8 2 2
D. sin3+sin5 E sin3+sin5
2 8
Calculator:
500 500

24, j(13X—11X)dx n j(llX—13X) -
1 2

A. 0.000 B. 14.946 C. 34.415 D. 46.000 E. 136.364

25. Which of the following are antiderivative of f (x) = sin x cos x?
sin® x cos® X —cos(2x)
. F(X)= . F(x)= "m. Fx)= ———~=
(x) 5 x) 5 x) 2
A. lonly B. Il only C. lll only D. land lllonly E. lland Il only
(In x)3
26. Let F (x) be an antiderivative of ———. If F (1) =0, then F (9) =
X

A. 0.048 B. 0.144 C. 5.827 D. 23.308 E. 1,640.250
Answers:
1. C 2.E 3E 4 A 5D 6.A 7.--- 8A 9.A 10. ---
11.C 12.--- 13D 14.--- 15.C 16.C 17A 18.E 19.--- 20.C

21.C 22.--- 23E 24B 25D 26.C
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